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ST £ 2 5| ENFSLEH B
2H: CATED
Ha: DEHY WA
9l FEXT LAY (FAHSEEIH) CERED
SA - BB - GR(SIH) - HIRAY - BES 0 & ol B o HIRS2
CAIRED 6,018,552 5,988,552 80,000
= 625,000 625,000 0
x 80,000 0 80,000
2 5,313,552 5,313,552 0
DEBT I 5,982,692 5,902,692 80,000
= 625,000 625,000 0
x 80,000 0 80,000
2 5,277,692 5,277,692 0
FRUYRLAL (FRESES) 5,982,690 5,902,692 80,000
= 625,000 625,000 0
x 80,000 0 80,000
2 5,277,692 5,277,692 0
=Ry =4 2,982,000 2,982,000 0
401 AIEBI L2 THE] 2,916,000 2,916,000
01 Al 2,916,000 2,916,000
odel FS0E BSEMT X4 40,000 0 40,000
odel PHOIS BSENT X4
2% 02 0 40,000 A40,000
DHS MSOIE BSEXY TH(SEXFDI) 30,000 0 30,000
x 30,000 0 30,000
401 A8 2OH8] 30,000 0 30,000
ES 30,000 0 30,000
01 Al 30,000 0 30,000
0DHS NSO BSFUT FH[FYY
St 30,000 0 30,000
x 30,000 0 30,000
HEH SIS TEEXT FH(SETHRL) 50,000 0 50,000
x 50,000 0 50,000
401 AlEEI K 2 OHE] 50,000 0 50,000
= 50,000 0 50,000
01 Al 50,000 0 50,000
OWHS =X BEFUT ZH[FYY
Sk 50,000 0 50,000
ES 50,000 0 50,000




